MTH-4106-1 Factoring Trinomials of the Form: ax’+ bx + ¢
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Problem #1 Factor the following trinomial:

2X°+7x+ 6

Steps:

Sk

2o

-

wh

Multiply a x c.

Lty = LT

Find two numbers (N, and N2) whose product is (a x ¢) and whose sum is b.
.4

Rewrite the original trinomial, but when writing the middle term, replace bx with
N] X+ NQX.

Zila—B# e SR

Factor by grouping (grouping the first two and the last two always works here).

[2{%3%3—\-(% ke )
8 Qe ST RN W e

(7(1«7,) [2 ;u%)/

Don’t forget to check your answer! The factors (your answer), when multiplied
together, must give you the original trinomial.




MTH-4106-1 Factoring Trinomials of the Form: ax”+ bx + ¢
Problem #2 Factor the following trinomial:

6> —11x— 10

Steps:

1. Multiply a x c.

L (-10) = =GO

2. Find two numbers (N; and N») whose product is (a x ¢) and whose sum is b.
- \5 Y + \{

3. Rewrite the original trinomial, but when writing the middle term, replace bx with

N1X+N2X. 2
B =18 g + My 10

4. Factor by grouping (grouping the first two and the last two always works here).

((01:?’-\5*> JC/L{ X =10
(2253 2(2x-%)

(3>LJ<'7,YZ;L—‘3>

5. Don’t forget to check your answer! The factors (your answer), when multiplied
together, must give you the original trinomial.



MTH-4106-1 Factoring Trinomials of the Form: ax®+bx +c

Problem #3 Factor the following trinomial:

3x*—13x—10

Steps:

1.

LA

Multiply a x c.
Find two numbers (N; and N») whose product is (a x ¢) and whose sum is b.
-19, &

Rewrite the original trinomial, but when writing the middle term, replace bx with
Nix + Nax.

31.1-‘\{# &2 =10

Factor by grouping (grouping the first two and the last two always works here).
(3%2 s, iy PO @1—(03
(v -5y 2(y¢-5)
( 2o 125 2~

Don’t forget to check your answer! The factors (your answer), when multiplied
together, must give you the original trinomial.




MTH-4106-1 Factoring Trinomials of the Form: ax*+bx +c
Problem #4 Factor the following trinomial:

Ad> - 12d+9

Steps:

—

Multiply a x ¢.
Ye A 3

2. Find two numbers (N; and N,) whose product is (a x ¢) and whose sum is b.

s Y sl p
3. Rewrite the original trinomial, but when writing the middle term, replace bd with

Ny
T R N R

4. Factor by grouping (grouping the first two and the last two always works here).

(‘N} -'(acgdré(ac\, )
2 4( T8-3B - 3 2a-3)

(‘a/c\;‘&')[ 2d «3):/

Don’t forget to check your answer! The factors (your answer), when multiplied
together, must give you the original trinomial.

h



MTH-4106-1 Factoring Trinomials of the Form: ax”+ bx + ¢

Problem #5 Factor the following trinomial:

=P i T

Steps:

I

Multiply a x c.

(-\)s(\z,) T -l

Find two numbers (N; and N7) whose product is (a x ¢) and whose sum is b.
= o 4B

Rewrite the original trinomial, but when writing the middle term, replace bt with
Nyt + Not.

<£° 0k« 3 L2

Factor by grouping (grouping the first two and the last two always works here).

(-’ tz—k{’ch[’str 2
~E{ £40) ¥3 [+

("'&%3)(% w)j

Don’t forget to check your answer! The factors (your answer), when multiplied
together, must give you the original trinomial.




MTH-4106-1 Factoring Trinomials of the Form: ax”+ bxy + cy2
Problem #6 Factor the following trinomial:

5x% + 6xy +y*

Steps:

i

Multiply a x ¢.

5«1z 5

2. Find two numbers (N; and N») whose product is (a x ¢) and whose sum is b.

2,

\

3. Rewrite the original trinomial, but when writing the middle term, replace bxy with
Nixy + Naoxy.

55‘1"‘[%“3 + 5%5 —I—L12—
4. Factor by grouping (grouping the first two and the last two always works here).
Tt \xﬁ) % (5% +k\1
%_CQ)C"‘B\-‘\' [S#*"g>
(*“‘“3> [5 NN 5(

T

5. Don’t forget to check your answer! The factors (your answer), when multiplied
together, must give you the original trinomial.




MTH-4106-1 Factoring Trinomials of the Form: ax’ + bxy + ¢y’

Problem #7 Factor the following trinomial:

3m? —13mn + 14n°

Steps:

1.

Multiply a x c.

FeMN =YL

Find two numbers (N; and N») whose product is (a x ¢) and whose sum is b.
—6, -1

Rewrite the original trinomial, but when writing the middle term, replace bmn with
Nymn + Nomn.

2
B i, b oy %

Factor by grouping (grouping the first two and the last two always works here).

(3,@— I TR TR T )
'SW\ ( A 2 Sl ‘Zr\\ -’—7\(\

]

Don’t forget to check your answer! The factors (your answer), when multiplied
together, must give you the original trinomial.



MTH-4106-1 Factoring Trinomials of the Form: ax” + bxy + cy”

Problem #8 Factor the following trinomial:

2x%% + 5xy — 2y2

Steps:

1

Multiply a x c.

(— ’L\ [ - Z) =+
Find two numbers (N; and N,) whose product is (a x ¢) and whose sum is b.

Lt“

Rewrite the original trinomial, but when writing the middle term, replace bxy with
Nixy + Naxy.

= & l'{pa-\—» \Xj -*’2\;_
Factor by grouping (grouping the first two and the last two always works here).
(-5 v4eyd e (2y-24)
-"Z)L(ﬁ = 2\3) + \A[gf?th
(= 2xed/v-29) L

Don’t forget to check your answer! The factors (your answer), when multiplied
together, must give you the original trinomial.




MTH-4106-1 Factoring Trinomials of the Form: ax®+ bx + ¢

Problem #9 Factor the following trinomial:

x> —6x—27

Steps:

1.

(98]

Multiply a x c.
f % =9 = =271
Find two numbers (N; and N) whose product is (a x ¢) and whose sum is b.
e L

Rewrite the original trinomial, but when writing the middle term, replace bx with

Nix + Nox. 2
% —9 #-\«3,@ s P):“

Factor by grouping (grouping the first two and the last two always works here).

(‘xz—c’\ yc)dr(gvt < 5

£ (=) +3( = -0)
(x43) (2 -7)

Don’t forget to check your answer! The factors (your answer), when multiplied
together, must give you the original trinomial.



